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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper. '

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) How does systematic risk differs from
unsystematic risk? Briefly discuss the role of Bets,
(%)

(b) The return on sccuritics A and B under different
securitics are given below -

Probability Security A | Security B
0.20 25 % 15 %
0.35 18 % 18 %
0.45 22 % 24 %

Calculate risk and return associated with securities.
(10)

Or

(a) What do you mean by market participant? How

these participants can influence the market.
(8)
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(b) In a portfolio of the company, Rs. 4,00,000 have

been invested in Asset X which has an expected
return of 7.5%, Rs. 5,600,000 in Asset Y which
has an cxpected return of 9.2% and Rs. 6,40,000

in Asset Z which has an expected return of 12%.

What is an expected return of the portfolio?

(10)
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0.20 25% 15%
0.35 18% 18%
0.45 22% 24%
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2. (a) What is Dow Theory on stocks? Stock market

.moves in how many trends, discuss briefly?

(8)

(b) The Balance-Sheet of PQR Ltd. For the year
ended 31.03.2023 is given below :

Liabilities:

(a) Equity Share Capital | 4,00,000
(b) Preference Share Capital 2,00,000
(c) General reserve - 2,00,000
(d) Secured Loans 3,00,000
(e) Sundry Creditors 1,00,000

Total 12’00’000
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Assets:
(a) Land and Building
(b) Machinery
(¢) Furniture
(d) Inventory
(e) Sundry Debtors

(f) Cash/Bank Balances

Total

3,00,000
2,00,000
50,000
2,00,000
4,00,000
50,000

12,00,000

Calculate the following ratios from the given

Balance Sheet:
(i) Current Ratio
(i) Debt-Equity Ratio

(iii) Capital Gearing Ratio

Or

hypothesis.

(10)

(a) Discuss the weakness and shortcomings of

technical analysis in detail. Also briefly discuss

(&)
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@) A firm paid a dividend of Rs. 8 per ghyyq ang
the face value is Rs. 10, The dividend g ©Xpecreg
to grow at $% per annum. The company “Nﬂn
to 2 risk group for which equity capntuhmtm“

!"?Q
() What is the intrinsic value of the share?

(i) Would the value be different if the rig
class was 15%7? (10)
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(+) =R=dE IR g 4,00,000
(@) s 3w §R 2,00,000
(1) = swfEe 2,00,000
(7) wfem =w 3,00,000
(7) fafag Smer 1,00,000
& 12,00,000
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3. (a) What is portfolio? How portfolio diversification

helps in reducing the market risk. Elaborate.

(8)

(b) A Rs. 1,000, 12% bond is available at a price of
Rs. 800 in the market, The bond is redeemable at
par after 10 years, Interest is payablo annually:
Should an investor buy this bond if his required

(10)
rate of return is 14%%
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(@) What do you wnderstand by tntetnste vislue of (e

share, how {1t i dotormined tn fovesting and

businessy (")

(M A bond with a e value of Re. 1,000 promines
to pay 8% interest annually and the eurrent bond
price is Re 1,140 and time to maturity {8 10 years,
Find out: (1) What is bond Yield at eurrent price?

and (i) Yield To Maturity (YTM), (10)
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4. (a) Differentiate between discounted cash flow and

cash flow with a suitable example. )

(b) A company has paid dividend of Rs. 1 per share
of face value of Rs. 10 each last year and it i
expected to grow @ 10% next year. Calculate
cost of equity (Ke) if the market price of share 18

Rs. 55, (10)

Or
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(a) What do you understand by Cost of Equity (K )

and Cost of Capital (K,)? (8)

(b) The following is the profit and loss account of

Yamuna Limited :

Particulars l Amount(?)m;
| i)m z R;-vén'lr:crfrohmr (.)‘pct-'ati.m;s- o I 10,00:(—);(;‘-'“@
| Cost of Materials Consumed : :;8_50;)—: TT%
Purchase of Stock-in-trade :3:00,(:)00 “}
Other Expenses | 3,00,000 E
’:_Total Expenses 8,50,000

i) Profit before Tax (i — ii) 1,50,000

Additional information :

(i) Trade receivables decrease by 30,000

during the year.

(ii) Prepaid expenses increase by 35,000 during
the year.

(iii)y Trade payables increase by ¥ 15,000 during
the year.

P.T.O.
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(iv) Outstanding expenses payable increased by

23,000 during the year.

(v) Other expenses included depreciation of

¥25,000.

Compute net cash from operations for the year
ended March 31, 2017, by the indirect method.
(10)
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(@) F=eRes @wrn TR @ e sk wif @ #

1) || IREET ¥ W e 10,00,000
i) | =9
SUHT Ty HqTeT Sl AT | 50,000
IEED R ARCRRE 5,00,000
émrm I ——— 3.’00’0(._)0
o =T 8,50,000
iii) | FCGF AT (i ii) 1,50,000

FfaRaa sFeRt :

(i) =f & SR TR Wited § 230,000 W A

A R

(i) =of & SR gdew =@ ¥ 5,000 W I W

(i) =f B R =OR A WA | 215,000 &t gf&

gal

P.T.O.




810 14

(iv) a8 & ST 3 qEHE Y A 33,000 9 s 5,
(v) o @l ¥ 125,000 H GEER Wi o

swerer R ¥ 31 W, 2017 W wWR af @ Ry
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5. (a) What is dividend discount Model? How price

pattern can be helpful for investor. Explain.

(8)

(b) The following are the expected return, R, and risk,

o, of two securities A and B:

R c
A 15% 15%
| B 12% 20%

The correlation coefficient between the returns of
A and B is 0.8. An investor is to decide about the
portfolio of A and B as 75%+25% or 25%+75%.
Which one should he accept? (10)

Or
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write short notes on nny three out of the following :
(6%3=18)
(1) Discounted Cash Flow

(i) Factors determining Value

(i) Hedging

(iv) Efficient Market Hypothesis (EMH)
(v) Elliott Wave theory
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